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A2=1.28=t
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A4=10.0
∆=0.004

UG450−7N_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL
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∆=0.002

A1=0.0
A2=1.08=t
A3=0.0
A4=10.0
∆=0.011

UG451−7N_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

AD 26&0,1s G 6,3cd/m2; pot4
∆L = A4[A1 + A3·L ]t
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TUB-Prüfvorlage UG45; Schwellendaten Avramopoulos (89)
tp=0,1&26s, 4 Beobachter, Lu=6,3cd/m2, Potential−A3−Fit
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A2=1.01=t
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A4=10.0
∆=0.001
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A1=0.01
A2=1.28=t
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A2=1.24=t
A3=0.01
A4=10.0
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∆=0.0

 

 

  

  

  

 

 

 

0−000130−F0

V

C

L

M

O

Y

Y

O

M

L

C

V

V C

L M

O Y

Y O

M L

C V

-8
-6

-8
-6

-8
-6

-8
-6

TUB-Prüfvorlage UG45; Schwellendaten Avramopoulos (89)
tp=0,1&26s, 4 Beobachter, Lu=6,3cd/m2, Potential−A3−Fit
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L/∆L = L / [A4·(A1 + A3·L )t]
A1=0.0
A2=1.01=t
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A2=0.99=t
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